20 E = =
Q2 E = =
x 10E = =
e Ei = =
0 =" E%E median = 2.099 ug
0.15—— e e e
) R R e
S 0 e T T T T e e TR T L T T e e e L T e T T —— N e e 6 median = 0.095 Hz
S T T T o=
005 = —
sams2, 121f03006 at LABLO1, ER2, Lower Z Panel:[L91.54 —40.54 135.25] .
142.0000 sa/sec (6.00 Hz) SSAnalysis[ 0.0 0.0 0.0]
Af=0.002 Hz, Nfft = 65536 sams2, 121f03006 Hanning, k = 727
Temp. Res. = 38.986 sec, No = 60000 Start GMT 08-March—2014, 067/08:00:00.004 Span = 7.86 hours
1 — -6
0.9 =
-7
0.8 =

0.7

o
o

Frequency (Hz)
o
(63}

0.4

-10

Y-Axis PSD Magnitude [quo(glez)]

0.3

0.2 —
-11
0.1 —
0 - -12
08:00 09:00 10:00 11:00 12:00 13:00 14:00 15:00 16:00

G M T 0 8 - M arc h _20 14 y 06 7/h h ‘mm from: /misc/yodalpublpad, pims, 10-Mar-2014,05:16:44.902



